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Time : 3 Hours     Maximum Marks : 100 

Note : (i) Answer the questions as per the 

instructions given for each Section. 

 (ii) Section–A : Answer any two questions. 

 (iii) Section–B : Answer any four questions. 

 (iv) Section–C : Write short notes on any 

two in 100 to 150 words each.  

  

Section—A 

1. (a) What are the factors that influence the 
cropping pattern in India ? Discuss. 10 
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(b) Explain the issues related to management 
of water resources. 10 

2. (a) Explain the concept, nature and 
significance of land reforms in India. 10 

(b) What would you identify as the ‘Genesis of 
Panchayati Raj Institution’ in India ? 10 

3. (a) Do you agree that “diversification helps an 
Indian farmer to spread his risk” ? 
Explain. 10 

(b) Explain the impact of Covid-19 on Indian 
agriculture. 10 

4. Explain the trends, composition and role of 
capital formation in Indian agriculture. 20 

Section—B 

5. Explain the causes and solutions for low 
agricultural productivity in India. 12 

6. Mention the risks in agricultural lending in 

India and also explain the composition and 
trends of institutional credit in India.  12 
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7. Define food security. Discuss the negative as 
well as positive effects of government policy on 
food security. 12  

8. Explain the salient features of New 
Agricultural Policy, 2000. 12 

9. (a) Mention the four types of input subsidy. 6 

(b) What are the basic objectives of NREGA, 
2005 ?  6 

10. What are the major factors which influence 
foreign trade in agricultural goods ? 12 

11. Explain the importance of agriculture in Indian 
economy.   12 

Section—C 
12. Write short notes on any two of the following in 

about 100 to 150 words each : 6+6=12 
(a) Doha Development Agenda 
(b) Green Box, Blue Box and Amber Box 

supports 
(c) Sources of irrigation 
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      BECE–214 

Lukrd mikf/ dk;ZØe 

(ch- Mh- ih-) 

l=kkar ijh{kk 

fnlEcj] 2024 
(,sfPNd ikB~;Øe % vFkZ'kkL=k) 

ch-bZ-lh-bZ-–214 % Hkkjr esa Ñf"kd fodkl 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % (i) izR;sd Hkkx ls funsZ'kkuqlkj iz'uksa ds mÙkj 

fyf[k,A 

 (ii) Hkkx&v % fdUgha n k s iz'uksa ds mÙkj fyf[k,A 

 (iii) Hkkx&c % fdUgha p kj iz'uksa ds mÙkj fyf[k,A 

 (iv) Hkkx&l % fdUgha n k s ij 100 ls 150 'kCnksa 

esa laf{kIr fVIif.k;k¡ fyf[k,A 

 

 Hkkx&v  

1- (v) Hkkjr esa iQlyksa ds izfr:i dks izHkkfor djus 

okys dkjd dkSu&ls gSa \ ppkZ dhft,A 10 
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(c) ty lalk/u izca/u ls tqM+s eqíksa dh O;k[;k 

dhft,A  10 

2- (v) Hkkjr esa Hkw&lq/kjksa dh ladYiuk] Lo:i vkSj 

egRo dh O;k[;k dhft,A 10 

(c) Hkkjr esa ¶iapk;rh jkt dh laLFkk¸ ds ewy 

mn~xe dh igpku vki dSls djsaxs \ 10 

3- (v) D;k vki lger gksaxs fd ¶fofo/hdj.k ls 

Hkkjrh; fdlku viuh tksf[keksa dk iQSyko dj 

ikrk gS¸ \ le>kb,A 10 

(c) Hkkjrh; Ñf"k ij dksfoM&19 ds izHkko dh 

O;k[;k dhft,A 10 

4- Hkkjrh; Ñf"k esa iw¡th fuekZ.k dh izo`fÙk;ksa] lajpuk vkSj 

Hkwfedk dh O;k[;k dhft,A 20 

 Hkkx&c  

5- Hkkjr esa fuEu Ñf"kd mRikfnrk ds dkj.kksa vkSj muds 

lek/ku ds mik;ksa dh O;k[;k dhft,A 12 

6- Hkkjr esa Ñf"kd ½.kksa dh tksf[kesa crkb, vkSj Hkkjr esa 

laLFkkxr foÙk dh lajpuk ,oa izo`fÙk;ksa dh O;k[;k 

dhft,A    12 
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7- [kk| lqj{kk dh ifjHkk"kk nhft,A ljdkj dh [kk| 

lqj{kk uhfr ds udkjkRed ,oa ldkjkRed izHkkoksa ij 

ppkZ dhft,A  12 

8- uohu Ñf"k uhfr] 2000 dh eq[; fo'ks"krkvksa dh 

O;k[;k dhft,A 12 

9- (v) vknku lkgkÕ; ds pkj izdkj crkb,A 6 

(c) ujsxk] 2005 ds vk/kjHkwr mís'; D;k gSa \ 6 

10- Ñf"kd inkFkks± ds fons'kh O;kikj dks izHkkfor djus 

okys eq[; dkjd D;k gSa \ 12 

11- Hkkjrh; vFkZO;oLFkk esa Ñf"k ds egRo dh O;k[;k 

dhft,A   12 

 Hkkx&l  

12- fuEufyf[kr esa ls fdUgha nk s ij 100 ls 150 'kCnksa 

esa y?kq fVIif.k;k¡ fyf[k, % 6+6=12 

(v) nksgk fodkl ,tsaMk 

(c) gfjr cDlk] uhyk cDlk vkSj ihrkHk cDlk 

leFkZu mik; 

(l) flapkbZ ds lzksr 

× × × × × × × 


